Operaciones con Nimeros Vigesimales (D)

H83Bs

+ CBBOsgy

DG95y

+ 1G8As

IFE9y

— GG129

JGIHy

— 1I3J9

11269

+ C571I9

Calcule cada respuesta.

I61IF, EI294 DA4Fy,

— B4A8y, — 1F1Ay — 40G2y
AF2Ay 1353 Jop HED94
+ DFIIs — 64BCy + 8CBFsy
F7BEy, A23E, AFC5s

— ABF9 + IE38y + G797
C60Ay 198164 17AIGop
+ D839 — GOBDy — A2479
178D4s H3414 1E17540
— 9631y — 68D0y — EB3As
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Operaciones con Nimeros Vigesimales (D) Respuestas

H83Bsg

+ CBBOsgy

19JEByyg

DG95y

+ 1G8As

FCHFo

IFE9y

— GG129

1JD750

JGIHy

— 1I3J9

HIEI

11269

+ C571Iy

D6A4y

Calcule cada respuesta.

I61Fy

— B4ASy

728799

AF2Ay

+ DFIIy

14B184

F7BEy

— ABF9y

50G54

C60A»

+ D8399

15E3Jop

178D4y

— 96319

12964

EI299

— 1F1Ay

D30Jyg

135JJ99

— B4BCy

H1879

A23Ey

+ IE38y

18G729g

198169

— GOBDy

D86Dsy

H341,

— 68D09

AEB14

DA4Fy,

— 40G29

998Dy

HED99

+ 8CBFoq

167544

AFCb9g

+ G79799

1731Cy

17AIGy

— A2474

HSE9s

1E17540

— EB3As

JA3Fy
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